Efficiency vs dr

U00T_ROD000000T —Glo
0001_R000000001__Glo

=000 -
QOO T -
§§‘§§ E
2<<< o

111

bal”_mk

al_mKFI_]
bal__mkFit_

a
val

0001_R000000001Global__mkFit_jcoreNoClean
Fit_jcore50maxCand-33DUPremoval

0001_R000000001__Glo

Hl-;t ;

-1

1072

=
S
w

[ Efficiency vs dr (track,jet) |

§ 0.1

0 0.09

=

o

z 0.08

£20.07

>

20.06

@

o

£ 0.05]

3]
0.04
0.03
0.02
0.0

O

s

Efficiency vs pu

5 0.01
o
©.009

.................................................

...................................................

.................................................

o
s

Pileup

2 4 6 8 10 12 14 16 18 20

1
TP min AR

-1




	Contents
	Page 1


